
6540 6540.5 6541 6541.5 6542
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6583

6583.5

6584

6584.5

6585

6585.5

6586

6586.5

6587

ru
n

run:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

155−

154.5−

154−

153.5−

153−

us
l_

1X

usl_1X:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

101

101.2

101.4

101.6

101.8

102

102.2

102.4

102.6

102.8

103

103.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

15

15.5

16

16.5

17

us
l_

4e
Y

usl_4eY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

53.5−

53−

52.5−

52−

51.5−

us
l_

12
X

usl_12X:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6583

6583.5

6584

6584.5

6585

6585.5

6586

6586.5

6587

ru
n

run:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

165−

164.5−

164−

163.5−

163−

us
r_

1X

usr_1X:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

23.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

230.6

230.8

231

231.2

231.4

231.6

231.8

232

232.2

232.4

232.6

232.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

44−

43.5−

43−

42.5−

42−

us
r_

12
X

usr_12X:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6583

6583.5

6584

6584.5

6585

6585.5

6586

6586.5

6587

ru
n

run:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

26136.5

26137

26137.5

26138

26138.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6218

6218.5

6219

6219.5

6220

us
l_

co
il3

usl_coil3:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

3364

3364.5

3365

3365.5

3366

us
l_

co
il4

usl_coil4:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

990.5−

990−

989.5−

989−

988.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

9965.5

9966

9966.5

9967

9967.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6583

6583.5

6584

6584.5

6585

6585.5

6586

6586.5

6587

ru
n

run:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

23472.4−

23472.2−

23472−

23471.8−

23471.6−

23471.4−

23471.2−

23471−

23470.8−

23470.6−

23470.4−

23470.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

5446−

5445.5−

5445−

5444.5−

5444−

us
r_

co
il3

usr_coil3:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

1974

1974.5

1975

1975.5

1976

us
r_

co
il4

usr_coil4:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

600.4−

600.2−

600−

599.8−

599.6−

599.4−

599.2−

599−

598.8−

598.6−

598.4−

598.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

9039

9039.5

9040

9040.5

9041

us
r_

co
il7

usr_coil7:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6583

6583.5

6584

6584.5

6585

6585.5

6586

6586.5

6587

ru
n

run:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

361−

360.5−

360−

359.5−

359−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

68.4−

68.2−

68−

67.8−

67.6−

1X
_c
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l3

1X_coil3:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

7

7.5

8

8.5

9

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

395.5−

395−

394.5−

394−

393.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

89.5−

89−

88.5−

88−

87.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

7

7.5

8

8.5

9

4e
X

_c
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l7

4eX_coil7:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

38.6

38.8

39

39.2

39.4

39.6

39.8

40

40.2

40.4

40.6

40.8

4a
Y

_c
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l4
4aY_coil4:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

33.5

34

34.5

35

35.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6.5−

6−

5.5−

5−

4.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

76.5

77

77.5
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78.5

4e
Y

_c
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l4

4eY_coil4:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

16.5−

16−

15.5−

15−

14.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

6−

5.5−

5−

4.5−

4−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6585}



6540 6540.5 6541 6541.5 6542
cyclenum

208−

207.5−

207−

206.5−

206−

12
X

_c
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l1

12X_coil1:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

86.5−

86−

85.5−

85−

84.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

12
X
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oi

l4

12X_coil4:cyclenum {run == 6585}

6540 6540.5 6541 6541.5 6542
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2
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X
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12X_coil6:cyclenum {run == 6585}
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cyclenum

201.8−

201.6−
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201.2−
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200.8−

200.6−

200.4−
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199.8−

199.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6585}
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cyclenum

6583
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6584
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6585
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6586
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6587

ru
n

run:cyclenum {run == 6585}
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